Yeor & Makha

6. Janice has 9 small dolls. There are 15 in a full set.

How many more dolls does she need to complete her set of 15
dolls?

7. Here are 41 balls: 24 rugby balls and 17 foo

!.u; . §

Complete the addition and subtraction calculations below.

()-[] -w
O-0 -»
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8. Match the name of the 3D shape to the correct shape.

Pyramid

Cylinder 4&

Cube

a. Circle the odd numbers.

54 55
13 26 72
87 91

i
¥

3
10.Here are 12 toy cars. Asjal takes = of the cars to play with at
his friend's house.

How many cars does Asjal take to his friend’s house?

11.There is milk in this jug.

How much milk is in the jug?

O
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12.Write the missing numbers in this sequence.

[ e 57 17 27

13.Draw an arrow to show 75 on the number line.

60
I | | I

80

14.Cakes are sold in packs of ten.

10 Cakes 10 Cakes 10 Cakes

10 Cakes 10 Cakes

How many cakes are in the picture above?

15.Complete this calculation.

() wuns

16.Circle the longer time interval.

1 hour 65 minutes
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17.A shop sells bags of tennis balls in packs of 5.

/

{ ./y \\

{ {

| H |
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In a week the shop sells 35 balls.
How many packs of tennis balls are sold?

18.Here are some 2D shapes:

triangle oblong

square hexagon

Write the name of each shape in the correct column below.

Has 4 sides

Does not have four sides
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19.Here are 2 sets of weights.

Circle the heavier set of weights. i

20.Write a digit in each box to make this subtraction correct. s
7 )-[]-es 11“

21.Janice brings 15 packets of plain crisps and 17 packets of
flavoured crisps for a party. If there are 27 children in the
class and each child has one pack each, how many packs will
be left over?

Show your workings.

W
'; 2 marks

: Qo )

“Write the calculation you would use to calculate how many
children there are in the class.

-

lj =
\ /|
1 mark
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23.Tick the calculations that are correct,

9+4=4+9( )
9-t=4-9 ()

9+4=24+9( ) -

@ | tmark

25.Circle the 3D shapes which have faces that are triangles.

= @ A

26.There are 24 sweets in a packet.

, , . : 1
24.Write a fraction that is equivalent to > -

The sweets are shared equally among 3 children: Asjal, Janice
and Tom.

Janice gives 2 of her sweets to Asjal.
How many sweets does Asjal have now?

g |
‘-
=
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27.
a) How much money is represented by the following coins?

i |
ET v
|= 1=
[: ' 1 mark

b) Circle 2 sets of coins that show different ways to make this
amount: 75p

SENY -
FIVE v'rmq}l"r-
[

i nv

28.Here s an arrow.

Draw a new arrow to show this arrow after it has made a
quarter turn clockwise.

29 Write the number 102 in words.

( ]

L '[otai for
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30.Janice buys a magazine for 38p. She pays with a 50p piece.

Calculate the change Janice will receive.

.

31.A class choose their favourite colour.

Here is a block diagram showing thae choices of the children.

Our Favourite Colours

i
|

4 ||

I
|

21—+

01— T IE— |
Blue Red Green VYellow Pink

a) 7 children chose pink as their favourite colour. Draw the bar

on the graph to show how many children chose pink.

b) Janie used a tally chart to collect the information. Show the

number of children who chose pink, using a tally.

[ Pink ]
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Snakes n:m Ladders
2, 3 and 5 Times Tables

You will need...

. The Snakes and
Ladders Board
Game board

- Adice

- A counter
per player

How to play...
1. Pldyers take it in turns to roll the dice.
The player with the highest number
goes first, the player with the second
highest goes second and so on.

{
2. When it's their turn, players move
the,counter the number of spaces
shown on the dice and answer

[

the calculation they land on.

3. If the answer given to the calculation
is correct, play continues as usual:

. _.,Q:&:m on a snake’s head - the
player’s counter slides down;

. landing at the bottom of a ladder
- the player’s counter climbs up.

4. If ﬁTm answer given to the calculation
is incorrect, the player misses a go.

5. The first player to reach the
finish is the winner!

é visit twinkl.com
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Snakes and Ladders
2, 3 and 5 Times Tables

Answers

You will need...

. The Snakes and
Ladders Board
Game board

- Adice

- A counter
per player

How to play...

1. Players take it in turns to roll the dice.
The player with the highest number goes
first, the player with the second highest
goes second and so on.

2. When it's their turn, players move the
counter the number of spaces shown on
the dice and answer the calculation they
land on.

3. If the answer given to the calculation is
correct, play continues as usual:

. _n:w::m ona m:n_am.,_m head - the player’s
counter slides down;

. landing at the bottom of a ladder - the
player’s counter climbs up.

4, If the answer given to the calculation is
incorrect, the player misses a go.

5. The first player to reach the finish is the
winner!
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